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If force (F), velocity (V) and time (T) are taken as | q,

fundamental units, then the dimensions of mass
are:

M VT
@ [FVT-Y
® [FVTY
@ [FVIT]

A projectile is fired from the surface of the earth with | 2

avelocity of 5ms = and angle 0 with the horizontal,
Another projectile fired from another planet with a
velocity of 3 ms~! at the same angle follows q
trajectory which is identical with the trajectory of
the projectile fired from the earth. The value of the
acceleration due to gravity on the planet is (inms—2)
i8: (given g =98 ms~7) -

(1) 35
2 59

4 1108

S
A particle is moving such that its pusk
coordinates (x, y) are Q
(2m, 3m) at time t = 0, 6
(6rm, 7m) at time t =25 and %
=
vw]fmm t=0 to

(13m, 1dm) attime t =55,

Average velocity ecty
t=5sis:
1 5
ﬂ]&@*ﬂ

(i+7)

@ 3

@ 2(i+j)

[Engliair+Hina]
e =& (F), 37 (V) 71 997 (1) 1 77w o fora
S 4, Z5THE w1 faRw B - -
M [FVT-]
@ [FVT-3

ey, [EV=lr=l
@ [EV-IT)
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(1) S.QQ

A

(6m, 7m) TTt =25

(13m, 14m) H99t=5s1
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A system consists of three masses my, M, and my
connected by a string passing overa pulley P. The
mass m, hangs freely and my and m; are onarou gh
horizontal table (the coefficient of friction = ).
The pulley is frictionless and of negligible
mass. The downward acceleration of mass my 1s:
(Assumeny =m2-m3=m}

P oy iy

é"'iﬂ';gﬂ}

g1 —2u)
e

sy
) g ( . )

The force ‘F' acting on a particle of mass ‘'m’ is
indicated by the force-time graph shown below. The
change in momentum of the particle over the time

‘m’ is descending down with

“a’ (where a < g). How much mass

moved from it so that it starts moving

acceleration ‘a’ ?
2ma
g+a
2 ma
gE—a
ma

g+a

interval from zero to 8sis. @

a7l Tog T freem § dE T my, m, T8 m, T
wadl | % & S um ol P S de T B
m, T F @ W & AT m, T m, U
i g1 ¥, Formen i orien 31 o A R ¥
AT T T AT €

4z my=my=my=mB, m, %1 AU (7

(1) 24Ns

20 Ns

12 Ns
(4) 6Ns
‘i BT 1 0 e (TR ‘a’ T A A IR
%1 & (ol a < g) | TWH R e w1 v we
form g i T ‘0’ TR W F T A WE o7

2 ma

g+a

2 ma

g—a

1ma

gt+a

ma
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A body of mass (4m) is lying in -y plane at rest. It | 7,

suddenly explodes into three pieces. Two pieces,
each of mass (m) move perpendicular to each other
with equal speeds (v). The total kinetic energy
generated due to explosion is:

(1)

mo*

2
— mu

(2)

(3)
(4)

2 mpd

4 mot

The oscillation of a body on a smooth horizontal | 8.

surface is represented by the equation,
X = Acos (wt)

where X = displacement at time ¢

w= frequency of oscillation

Which one of the following graphs shows correctly
the variation ‘a” with t" ?

B

QB

(1)

I = e NN
\

(3)

A @nder of mass 50 kg and radius 0.5 m is 9.
free to%otate about the horizontal axis, A massless

string Is wound round the cylinder with one end
attached to it and other hanging freely, Tension in
the string required to produce an angular
acceleration of 2 revolutions s~ 2 s ;

(1) 25N
@ 50N
(3) 785N
#) 157N
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The ratio of the acclerations for a solid sphere . e @ WHAE S T Y § | T T m
(mass ‘m’ and radius ‘R’ rolling downan énclineﬂ?f ot R FET 1 T v e SR 43 F ST
angle '8’ without slipping and slipping down e ; 3
incline without rolling is : T T A % fo e e e g GIEEE]

7y 5.7 ﬁhwimﬁﬂﬁﬁ.ﬂmq&ﬂmﬁﬁ‘m
g i et & oy T T ) A, A e i

¥ 2:5
(4 L

A black hole is an object whose gravitational field is

so strong that even light cannot escape fromit. To . A (= de) T i iz ¥,
what approximate radius would earth !

£
mass = 5.98 % 102 kg) have to be compressed to be i o WA v & 6 e
tha-:khnle? et oA | Qe 1 e fe

M 1077m faren 1 fof Aw o faeR 7e
@ 10 °m (e ﬁrmﬂm}as )
@ 107'm @1 107 %m \

10-"m

2
(4) 100 m {9 ‘; s
Dependence of intensity of gravitational field (E) of @ W b

earth with distance (r) from centre of earthis correctly | 12, = w1 At (E) ol Teaﬂ & a-;a |
represented by : é b 6 T H) AR T e
?

<& -

Q

R *
\(# )

(#)

mﬂqi ¥ i ﬁ[ m

per of fixed volume " is drawn into wire of e v & a3, 1 T W.H;ﬁ i
Jength ‘I'. When this wire is subjected to a constant T ¥ T AR W {W) =& ‘P )
force ‘F, the extension produced in the wire is “4l'. To wEn H Al 3fs w1 E, it © 6 FF
Which of the following graphs is a straight line ? 1T a2
(1) Alversus1/l @ AR/l ¥ ==
(@) Al versusi? (@ Armum? F
(3) Al versus1/1 @ AT/ %
(4  Alversus| () ArFl = HEE
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14. A certain number of spherical drops of a liquid of | 14,
radius ‘r’ coalesce to form a single drop of radius
‘R" and volume V', If T is the surface tension of

the liquid, then :
()  energy = 4y (1 =
r

(2)  energy = avT (—:- -

(3)  energy = avT (1 = %J is released.
r
(4} energy is neither released nor absorbed.

15, Steam at 100°C js passed
10°C. When water acquires

the mass of water present will be
[Take specific heat of water = 1 ca] g 1°C~1and
latent heat of steam = 540 ca g1

1) 24g

(&) 3l5g
() 425g
@ 2254

16.  Certain quantity of water cools from 70°¢ to60°Cin | 16
the first 5 minutes and to 34°C in thenext 5 minutes,
The temperature of the surroundings is -

1) 45°C
@ arc
@) 4c
4 10c

17. A monoatomic gas at a pressure P, hati 7.
volume V expands isothermally to a volume &}
then adiabatically to a volume 16V, \Jhe

1) 6ap
(2)  a2p

ABCDA as shown § Fig,

systemin the cycleis® o

“} PU v[i

@ 2pv,
| B b

4 Zero

e

i J is absorbed,
R

pressure of the Easis;{take y= 5/3) 6
(3 P/ed *
4 16P @.

18, A ther:mdynamicsynter%fgoea cyclic process
e work done by the | 18.
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E].J isreleased.

into 20 g of water at | 15.

atemperature of 80°C,

ﬁﬁﬁiﬁ'r‘ﬁwﬁ’ﬂﬁm‘g@ﬁﬁm'w
fmrm*vmaﬁmiammﬁ%.mmm
T2TE T, mwwn & .

® VT ( - )

@ T2+ ) s et

1
0 V(2 - ) s e
@) 9% 5 g |
10°C A %, 20 g 541 7, 100°C &7 5

T 80°C B W Fufiem fera #om 2
[ =1 fafme e - 1%—

T 551 = 540 cal -]
(1) 24g b‘

(3 42@ ¢

FEITT BT ® 16y AFAA 9% IEIT wmiar #
trfcyzs,rsi‘m’r.hmarﬁmmﬁm:

1) 64P
(2) 32p

(3)  P/64

4) 16P
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The mean free path of molecules of a gas, (radius 1)

is inversely proportional to:

If ny, 03 and ng are the fundamental frequencies of
three segments into which a string is divided, then
the original fundamental frequency 1 of the string

(0]

@)

@) Vn= oy g+

(4) n=mn +nz +n3

The number of possible natural oscillations of air
column in a pipe closed at one end of length 85
whose frequencies lie below 1250 Hz are : (velog
of sound =340 ms 1)

el S
s
By 7
4 6

sees traffic jam ahead of '

him. He slow n to 36 km/ hour. He finds that
traffic has ea nd a car moving ahead of him at
18 km/ hour is honking at a frequency of 1392 Hz. If
the speed of sound is 343 m/s , the frequency of the
honk as heard by him will be :

(1) 1332 Hz
(2) 1372 Hz
(3) 1412 Hz
(4) 1454 Hz

afe fEet @ % amed W e o @A, S
- - T SR R
Ay OF

@ °#

@ 1%

@ Ji®

e fopeft Tft 1 it W A FfEs 79 W

1 e A Fw nl,naﬂmngﬁﬁ.F@
wifireR @ ST o & fe Fae Em

, U o e TS
IS
e 2 s 1
& Ty T
() n ={ng¥na + s

+ Na + 1y

)
@mﬁﬁﬁ?ﬂﬂﬂWms“'ﬁﬁl;ﬂﬁUHzﬂ
l\ Arafa = 85 cm @ UF fAl T AR
feeT (TR - e W e Al
"‘u'{ .'ﬂF
o
Y

o Wh
L
2

(2)
(3) :

o O
o St 35 T O T W e S A
F7 T T 3U 36 ke 9 52 F F ¥) 2w F=w
13, TR A 18 km W 52 W A6 A e 6

T W, 1392 Hz AT 1 & FoTi 8 Afg
1 T 343 m/ s & A, Wit TEfEe A 5 e

1 g A 2
(1) 1332 Hz H
(2) 1372 Hz f
A3) 1412Hz
(4) 1454 Hz
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8
Two thin dielectric slabs of dielectric constants
K, and K, (K, = K;) are inserted between plates of a
parallel plate capacitor, as shown in the figure. The
variation of electric field ‘E’ between the plates with
distance ‘d” as measured from plate P is correctly
shown by
P+
o
4
+
.!.
+
+
+
t =
4 TR S
1) i'
ﬂ Id e
1 S
@
n -d e
f
B i 2
(3) i
0 a5
1
e om e
o nl] HiERS &
g a- Q
A conducting sphere of radifis R s given a
charge Q. The electric potentialé :"'i’i* electric field
at the centre of the sphere reSpeetively are
Q
(1) Zeroand 4
Q
whZero
(2) @4
Q
and —=—
(3) R 4me, R2
&Both are zero
25. region, the potential is represented by
Vi{x, y, z) = 6x—8xy— 8y + 6yz, where Visin volts
and ¥, v, z are in meters. The electric force
experienced by a charge of 2 coulomb situated at
point (1,1,1) is:
(1 6/5N
() 30N
(3) 24N
4 4/ N

www.sakshieducation

23,

24,

<

25,

T WAL U () HAE w1 ) W A
Ky 89K, (K, < K,) T ¥ &) G 1d ( 9gi)
o= o 2ot T sgem T ¥ wenf o A
TiEEwIA F A9 & 49 % 969 E °, 9gem PR g
‘d’ % WY A ) R 00 6w 6 2 ¥ 7

]

bttt

J,.,_.

@ il |
e

T AT e % B R MW QAR ) =
T W F2 W feree fave aen e A ww w0

= R
() TR 4 e, R?

Q

B T e

Q" Q
G 3 ey R LA TE, R?
@) = YA

el &= 7 fava =,

V[x Y, 2) = bx—Bxy —8y + by=z
ﬁfﬁﬁﬁmm%ﬂﬁvmﬁmhmzﬁﬂ

qi|ﬁtﬁ-—g{| 1,1) W feera 2 gty e o =

AT faem we €

M 65N
2) 30N

@) 24N
4) 43N
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Tweo cities are 150 km apart. Electric power is sent
from one city to another city through copper wires.
The fall of potential per km is 8 volt and the average
resistance per km is 0.5 £2. The power loss in the
wire s :

1) 192w
(2) 192kW
@ 192
@) 122kwW

The resistances in the two arms of the meter bridge
are5 () and R {2, respectively, When the resistance
R is shunted with an equal resistance, the new
balance pointis at 1.6 /;. The resistance ‘R’ is :

| N,
511 R {1
A B
I’l lm = ET

1M 100

(2) 151 .
(3) 200

@ 250

A potentiometer circuit has been se \ﬁ*éﬂ'ﬂmhng

the internal resistance of a givenfcally, Phe main
battery, used across the poten [ ire, has an
emfof 2.0 V and a negligible il%mmsmnce, The
potentiometer wire itselfyis 4 ang. When the

resistance, R, connected aeros® the given cell, has
values of,

(i)  infinity $
(i) 95

the 'bal
are found to

ngths’, on the potentiometer wire
3m and 2.85 m, respectively.

The value of internal resistance of the cell is

(1) 0250
2 0950
B 050

4 0751

9

P

26. UH T A fagy k@ w, 150 ke T o0 F o=

T T, T4 % A | Yen W &1 wfa fewme
fava-vm 8 dice @ 9 feemnier afms oy
0.5 0¥ =, 7% ¥ nfw-a= g

1y 192w
(2)  19.2kW
@  192]
(4) 122kW

TRl We-Ag +1 @ g =1 afys §
RO%1 5@ Wi R & 7w (79d) #TR
TF = Wiy (W) @ e e
= 1.6 1, W wrE B &1 wfaiy

S

==

St e
!‘G 1{
! T
G 10 £ *(6
15 0 »f‘ﬂfzu o
@ 2200 A -
4) 250

e 53 T A el afem T w8 el
W T AT % AT w4 m S e
T T e A ) A e el (3UEaw) 20 V
#1 Fef w1 sfrw wfeiw e 8 R ) 9w
ol o i R wfadee R o ufai

()

() 950

T O A sEnT A e wrEE w3 m
285m ¥

Al, ¥ 1 AT i E

(1) 0250
(2) 0950
B) 050

4 0750

www.sakshieducation.com




Following figures show the arrangement of bar
magnets in different configurations. Each magnet
has magnetic dipole moment m . Which

configuration has highest net magnetic dipole
moment ?

(1)
(2)
(3)
(#)

Inanammeter (.2% of main current passes through
the galvanometer. If resistance of galvanome i8
G, the resistance of ammeter will be;

1
M 79 © 0\@
4499
Boies S Q
i )

Twoidentica GI\% ucting wires AQB and COD
ht angle to each other, with one
that "C¥" is their commaon point for

e wires carry I} and 1, currents,
lyv. Point ‘T is lying at distance 'd’ from
g a direction perpendicular to the plane

aining the wires, The magnetic field at the point
"will be

2rd ': 1 2:'

Lo if - )

English+Hindi|

i 7 %% (9) Tadi w1 Haens ¥
T ¥ | e e w5 fgyE e m ¥ R e
H 2 g fgya sl 1 A ST g ?

N

(a)

3 T £ af e oS W
Wiy ‘G & 0, 39 uHET w1 wfes wm e

@
@
&)

@ 1%

%1 AW (U W) T A a1 AOB 741 COD, T
ZH % T, AT H e @ T E oo e wm
UF qEL R WEd §| I EE: 1 T4 1, Hd
vt o ot ¥ faz o B d B0 W, S A & e
& e v % sfen fega fared faeg P o asta
CERaR Gl Ui

O 3 (/)

Lo >
@ g (I +13)

8 o (=)

1/
[ 2 2472
@S oo (1 + 1)
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32

33

A thin semicircular conducting ring (POR) of radius
‘v’ is falling with its plane vertical in a horizontal
magnetic field B, as shown in figure. The potential
difference developed across the ring when its speed
isv,is:

b4 x = =
B
= o D- » =
/
=P ke b1 k3
(1) Zero

(2)  Bvm?/2and P is at higher potential
(3)  wrBvand Ris at higher potential
{#)  2rBv and R s at higher potential

A transformer having efficiency of 90% is working
on 200 V and 3 kW power supply. If the current in
the secondary coil is 6 A, the voltage across the
secondary coil and the current in the primary coil
respectively are:

(1) 300V,15A

(2) 450V,15A

(3) 450V,135A

(4 600V, 15 A

-}

Light with an energy flux of 25 x 10 Wm ~* falls on
a perfectly reflecting surface atnormal incidence. 1f
the surface area is 15 em?, the average force exer
on the surface is ;

() 1.25x10"%N

() 250x107°N

(3) 1.20x10°°N .
(4 30x10°"N

Abeam of light of & =600 nm frc:@ stant source
falls on a single slit 1 mm wide and the resulting

vid.bn a screen 2 maway.
The distance between firstdark |
of the central brightfeing

1) 1.2em
(2) 12mn
(3) 24c¢
4 24mm

In the Young's double- slit experiment, the intensity
of light at a point on the screen where the path
differenceis & is K, (A being the wave length of light
used). The intensity at a point where the path
difference is x /4, will be:

M K

(2 K/4
3 K2
4 Zero

11

a2
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b e Q b H o

o 20 <
= = ® R= "..\ )
1y = ‘

\
(2)  Bvmr?/299P = favE W iﬁl'
(3) By A R fEvE s

(4) 2By TR ﬁu‘ﬂ Al

00V, 15 A
33 100 W~ Fol YesH 1 W, TR o
TSR T2 (6A8) W ey, Safad g §1 9
¥ Y I ATEA 15 em? B A, T T A S
oo B

(1) 1.25x10-%N

(2) 250x10° N

(3 120x10°°N

(4) 30x10"°N

1 foagm foeft = | 207 53T, A =600 nm, T TR
9, 1 mm =2 5 W amfam g &1 e I
faare Jed 1 ff1 | 2 m 37 from 7 o ¥
1, 14 2 T & 11 9 w1 v s fis &

iRl aui
(1) 12em

2) 12Zmm
(3) 24om

(4) 24 mm

=7 & - for wam #, w2 % faef) faeg we ameion 29
A, =w wEE FT A KRN WOH EW H
TRl ) | @, 7 & 7 faw e ngre a4 R,

Frn R
1y Kk

% K/4
B) K/2
4

;.
\

g




P 12
37.  [fthe focal length of objective lens is increased then | 37.
magnifying power of :
(1)  microscope will increase but thatof telescope
decrease.

(2)  microscope and telescope both will increase.

(3) microscope and telescope both will
decrease .

(4  microscope will decrease but thatof telescape
will increase,

38. The angle of a prism s "A’. One of its refracting
surfaces is silvered. Lightrays fallingatanangleof | 38.
incidence 2A on the first surface returns back
through the same path after suffering retlection at
the silvered surface. The refractive index p, of the

prismis:

(1) 2sinA
(2) Z2cosA
(3) -,I; cos A
4 tanA

39, When the energy of the incident radiation is
photoelectrons emitted from a metal surface

increased from 0.5eV o 0.8eV, The work function
of the metal is:
(1) 065V 6

@ 10eV
@) 13eV I @
@) 15eV

40.  [If the kinetic energy of the partiele isSgcreased to

increased by 20%, the kinetic energy of the 32

16 times its previous value, -Tigntage change | 40.
h

in the de-Broglie wavelen particleis;

1 25
@ 75
@) 60
() 50

41. Hydrogen tmy";n ground state is excited by

[:1} 10

42, The Binding cnergy per nucleon of '.::;Li and ;He

nuclei are 5.60 MeV and 7.06 MeV, respectively. [ 42

In the nuclear reaction ;Ll + %H >:H~: + gl le+Qy
the value of energy O released is .

() 19.6 MeV

) -24MeV

(3 B4 MeV

@) 17.3MeV

Rrwatic radiation of A =975 A. Number 11

[Eralih Find

af, wfiayas & &1 IR T F = fem e )
) TS I ST A A S e g
Eale R de il

(@) YTy e e Sl i AT A wg

() wseEsl A gTEvie Sl Sl SEEA A
1 S

() gures T S AE) R A g
w1 e

(2) 2cos

(A A
fit g w e fafwwo =1 st = 20%
= T, 254 IEiea W2 Sl (v A
T ) A S 05 eV R AGHE 0.8 eV B W
21 W, 78w T wE B §

(1) 0.65¢V
@ 10eY
3 T13eV
(4 15eV

aife st w1 s Fa w1 39 e W |
16 T 5 g v |, W R - e i i 4
T wfeom fved #m

1 25
) 75
@ 60
() 50

Feerer et et 1 @ Ee THT AR, 975 A e
% T e A e T @, e
s A Tzl Tl WA ;-

1y 3
@ 2
G) 6
4 10

215 7 § He 1w =gfawaita e 35, HE: 5.60
MoV FH17.06 MeV & 1, Freifaa fvia sl ;
T+ s e + dne + @, HTER FEI QR WA A
(1) 19.6 MeV
@ 24 MeV
@) 84 MeV

@) 173MeV
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46.

A radio isotope ‘X’ with a half life 1.4 % 10 years
decays to Y’ which is stable. A sample of the rock
from a cave was found to contain ‘X’ and ‘Y’
intheratio 1:7. The age of the rock is

()  1.96 %10% years
() 392 x10" years
(3) 420 % 10" years
4 840 x10? years

The given graph represents V - | characteristic fora
semiconductor device,

Which of the following statement is correct ?

(1)  Itis V- [ characteristic for solar cell where,
point A represents open circuit voltage and
point B short cireuit current,

(2} It is for a solar cell and points A and B
represent open circuit voltage and current,
respectvely.

{3) Itis for a photodiode and points A and B®
represent open circuit voltage and curren

respectively.

(4)  Itisfora LED and points A and B re
opencircuit voltage and short circuif ci¥fres
respectively.

The barrier potential of a p-n jungti nds on:
(a)  typeofsemiconductor %l

(b) amountof dopin

(c) temperature

Which one of the ringis correct 7

@) (a)and
@ (bo
@ (b

4) () (b)and (c)

What is the maximum number of orbitals that can
be identified with the followingguantumnumbers ?

n=3, I=1, m=0

m 1
@ 2
3
4 4

13

43, T eAfRe gy o) # ad-amg 14 %100

=i #1 T st oy ¥ wEiE @ oa R S
Tl | fR e T uE WEE A X Y ®
S 1 79T W, 5 T2 1 AT WA

1) 196 x10°=d | j;a
@ 2392 x10°9d Ll a4
(3 420 x10" 74

(4) 840 x10°94

T8l UE (AeE) § R Ad-TweE V-l
ST SFIE1 T E | C)
Q
FITH FA w2
V-1 e §, 78 A, G
a1 B -9y fagm v

‘i & ferd #aen A o BEd vy

ngm: ﬂlamamf‘-m‘ﬂ b &t st e &)

6.

) ¥ ‘W TEE  fda §oaw A s ga
aftge & sHer: wieed qu fae a6 et
H0

(4) %€ LED % fordl & it A 71 B @@t wfay o
A Aleedl 941 @g-uftey F faeg awow

frefmm =3 )
et p-n 1Y &1 09 fav| Pl s § -
(a)  Ef-ers v W
(b)  #gfmHm =1 9w
(¢) AW
freitee & & @ w wE § 7
(1) e (2) 70 (b)
(2) 4 (b)
() A (b) T (c)
A (a) (b) T (c)
1 aten wen F ford sifusas sifvfuifa swE
1 HE 4w ?
n=3 =1, m=10
(1) 1
(2 2
“<) 3
@ 4
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51

52,
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C;lltulﬂfﬂ Ithe Enﬁrﬁ}; in joule -:I-:nlﬁl*-zﬁpc]:;nding tolight | 47, 45 nm =+ d0=2e F v & fod ==t =1 9 e L
of wavelengl nm : (Planck’s constant e (T R h=663%10 24 [s : THT
h=6.63%10""]s;speed of light c =3 x 108 ms 1) a.‘rﬁ'l'l.:—‘.:x 108 ms—1) : i %
(1) 667x10%° ) 66710
@) 6.67x100 @)  6.67x10M
3) 442x10”8 (3) 442x10-15
4) 442x10° 18 ) 442x10-1
Equal masses of H; , O, and methane have been ; :
taken in a container of volume V at temperature 27°C < PR ﬁH!‘Diam I TV
in identical conditions. The ratio of the volumes of H # 27°C 9T HEE T i W fagn ma ¥
gases H, : O, : methane would be : Hzrﬁ:ﬁaﬁmﬁ? are : qTe =
1) 8:16:1 @ 8:16:1 '
(2} 16:8:1 @) 16:8:1
(3 16512 3) 16:1
g : »
() 8:1:2 ) 5:1&0
IT & is the length of the side of a cube, the distance AT ot
between the body centered atom and one corner atom & : ! I35 % s
in the cube will be; ﬁmm%iﬂiﬁ@ﬁrﬂ:
2 2
—= 4
M 0 e
4 e\b )
{2} Ji a {"} \5
V3 LE
@ 3 0\@ o S
Ve V3
. A Vol e

Which property of collo

charge on colloidal LN
(1) Coagulatio
%1

ependent on the

(2)  Electropl
(33 Electno - os 5
(4) awdall efféct
@I following salts will give highest pH in
L&
!
NaCl
3  Na,CO,
(4)  CuSO,

Of the following U.10m agueous solutions, which
one will exhibit the largest freezing point
depression 7

1 K
(2} CyHy904
B3)  AL(SO,),
() KsSO,

www.sakshieducation.com

HITITE! 3] DI 71 [0 FIE138 B FE T A
Rideaoik o

(1) =&
2) FEE T HEEA
@) FEa
A8 feed e
FetetE wEe § =9 wa | aftsmas pr 2
1) Kd
2 Naci
(3) Na,CO,
(4) CuSO,
=1 5 A fFmEE 0,10 m 763 fGegq w1 ved =
femia o sramma g ?
M Ka
@) CyH,0,
B)  AL(S0,),
4) K80,
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53.  When 22.4litres of H,(g) is mixed with 112 litres of | 53,
Cl, (g), each at 5.T.P., the moles of HCI (g) formed is

equal to
(1) 1molof HCI(g)
(2} 2molof HCI (g)
(3) 0.5 mol of HCI (g)
(4 1L.5molofHCI (g)
54, When 0.1 mol MO is oxidised the quantity of | 4
electricity required to completely oxidise MnOS
to MOy 5
{1y 96500 C
@) 2x96500 C
(3) 9650C
@) 9650C
55.  Using the Gibbs energy change, AG"= +63.3 k], for | 55,
the following reaction,
AZ,CO;4 (s) = 2Ag™ (aq)+CO4*~(aq)
the K,pl of Ag,CO4(s) in water at 25°C is :
(R=8314TK Tmol Y
(1) 32x10-%
2) 8.0x10-12
(3) 29x10°3
@) 79%x10-2
, 56.
56. The weight of silver (at.wt.= 108} displaced by a
quantity of electricity which displaces 5600 mL of
O, at STP will be \
(1) Sdg
(2) 108g
(3) 540g 6
) 1080g *
57.  Which of the following statements iglc orthe | 37
spontaneous adsorption of a gag?
(1)  ASis negative and, therefofe, AH should be
highly positive. .
(2) ASis negative an efore, AH should be
(3) erefore, AH should be
(4) i ive and, therefore, AH should also
be Hi sitive.
58.  Forthe reversible reaction: o

N,(g) +3H;(g) == 2NH,(g) + heat

The equilibrium shifts in forward direction :

(1) by increasing the concentration of NH,(g)

(2) by decreasing the pressure

(3 by decreasing the concentrations of Ny (g) and
Hy(g)

() by increasing pressure and decreasing
temperature

A

P

T 22.4 FIZT Hay(g) F 11.2 1 Cly(g) F WHS.TLP.
w7 fafes o = & @ HCl(g) e &7

(1) 1HEHC(g)

@) 2FEHCI(g)
«3) 05HEEHC (g)

(4) L3WEHC (g)

T 0,1 51 MnO2~ 1 90 ITEiEE ( MOl B
MRO ) T & dl Tt T s w1 SArETEsT
w2

(1) 96500 C

2) 2x96500 C O

(3) 9650 C

)  9650C < r,r

firaa 9l i AG = + 63,8) F, a3 B 7

AHE':I'JS{S} &l Ks “

(R=8314 | K—Zmo
1) 32x16-
) a.uﬁu;

(3)

3

q.1=108) 1 fa R frenfim dm s
91 & 5600 mL O, %1 5.T.P. 7 et

(1) Sdg

(2) 108¢g

(3 540g

(4) 1080¢

e § B ®E-a Hgd T8 F =@yl st &

e w87

(1) ASTvmens ®, gafer! AH ISR SARAE B4
afed |

(3)  AS T ¥, THfed AH FST TR B
=ifed | _

(3)  AS AT ¥, T AH FOTE #A |0ed |

()  AS weTEE ¥, 9 AH W TR ST
B = |

Tm TRty afufsm % fed

Na(g) + 3H,(g) = 2NH,(g) + heat

T o T favafyes @0n

(1)  NHs(g)®1 |z 738 7

@) TEHFEFA R

(B)  Ny(g) T Hy(g) %1 FrHe F1 H4 T/

) aE T gfE v T A W
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62.

64,

65,

For the reaction ;

X304(1) ——2 XOy(g)

AU=21kcal, AS=20cal K~ Lat300 K
Hence, AG is:

(1) 27keal
@) -27keal
(3} 93kcal
(4) -9.3 kcal

For a given exothermic reaction, K_ and K, are the
equilibrium constants at temperatures T, and T,

respectively. Assuming that heat of reaction is |

constant in temperature range between T; and T,
itis readily observed that

() K,>K,
@ K< K'P
@ K=K,

!
YR e
(4) p K,

Which of the following orders of ionic radii is
correctly represented ?

My H->H*>H

() Na*=F-=0%
@3 F->0%>Na*

() APt > Mg?ts NT

2
L0 g of magnesium is burnt with (.36 \
closed vessel. Which reactant is left in‘excesswand

how much ?

(At wt Mg=24;0=16) 6

(1) Mg, 016g \E

) 0,.016g

(3) Mg, 044g

(4) ©,,028g %

The pair of compounds tHat can exist together is ;
(1)  FeCly Sn@l\ ¢

(2) .

(3}

(4) :

Be* oelectronic with which of the following
10115

(1)

@ Lit

(3 Nat

@ Mgt

Which of the following molecules has the maximum
dipole moment ?

(1) Sec, A
@) CH, V@)
(3) NH, Y
4  NF, T
(s
e

16
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English=Hindi]

HiufFm & a3 .
X0, — 2 XOy(g)
00K TAU=2.1k cal, AS=20 cal K !

WMAGE:

(1) 27keal
2) —-27kcal
() 93kcal
4 -93keal
et spfufE & ford o 1, v 1R
MEMKP@I Kp 81 M 73
HHIT, T T, F A AfEETyEn
ST H e

M) K,>Kp, g)
@ K,<K, Q
K

(3) "

(4)
Kp
4 e g A B = w5 e = 1
w7
Yo HE=HT>H
(2) MNat>F>0°%"
@) I >0 >Nat
@) APt >Mg?t> N

1.0 g HifSTm 10.56 g O, % W =42 917 H S
A 21 HiA-1 afusrs v e @ 3 e ?
(Mg 0. =24 TH O F1 9.9, = 16)

(1) Mg, 016g
@ 0,,016g
3) Mg, 0ddg
@) 0,,028g

AR F1 gm0 U w9 G @ gea f,

(1) FeCly SnCl,
A42)  HgCly sSnCl,
(3) FeCl, SnCl,
(4)  FeCly KI
6d. 7= o | B B2t fFEE e Tw §7
)
€2 Lit
(@ Nat
@ Mgt
751 5 & form ao) w0 watfvss faym st & 7
(1) <o,
() CH,
A3)  NH,
4) NF,
.com
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67.

68,

69,

70.

72,

Which one of the following species has plane
triangular shape 7

1) N
(2}  NOj
# NO;
4 CO

Acidity of diprotic acids in agueous solutions
increases in the order :

(1)  Hi5<H;5e < H,Te

{2) HjSe<H,5<H,le

(3)  H,Te<H,5<H,Se

(4)  HSe<H,Te<H,S

@)  H,0,+0, - Hy0+20,

) HO,+AgO—2Ag+H.0+0,

Role of hydrogen peroxide in the above reactions is
respectively :

(1)  oxidizing in (a) and reducing in (b)

(2) reducingin (a) and oxidizing in{b)

(3)  reducingin(a)and (b)

{4) oadizingin (a) and (b)

Artificial sweetner which is stable under cold
conditions only is

(1)  Saccharine

17

66.

67,

68,

L]

== T 1§ R ST WHae i 67
(1) Ny

) NOj3
-él NO7

@ <o,

T el o enuifer Al s w5 R

M FAE

(1) H.S<HSe<H,Te Y

@) HSe<H,5<H,Te 1" NG
A3)  H,Te < H.5 < H,5¢ L\~

(4) H,Se <H,Te <I1,S g E; 2N,

I L3

(@) H,0,+0, -+110+'=uq ~
S 6T ﬂfuﬁwmﬁ ALEAT

(2) Sucralose
(3 Aspartame
4 Alitame

In acidic medium, H50, changes er:r{J
which has two (- O =0~ bonds, Ehllﬁjltﬁ1 Hﬂ@

t{] @'Q# 0.

ST WA H,0,, CrpO,, %1 GO forerdl 6 21
(—O—0—) Ay & fEfm FmE | CrO, # CrF

?I'}Ln in CrQ, is ATRETHTY Sy
1 +5 @A) +5 WAl e T
4+ 3 2) +3
(3) (3) +6
4) = IU (4) =10
The reaction of agueou ith H,O, inacidic | 71, S/ KMnO, #t sifufeen seita wfifeafs 4 H,0,
clcnchu;mi gives: \ AFmER WM E:
1. +
o O MG, ar o
B M2 : @ Mnitaro, v~ (M
(4)  Mn*t and MnO, @) Mo,

(4)  Mni* SHRMNO,

Among the following complexes the one which
shows Zera erystal field stabilization energy (CFSE)
is:

= Hegei o 4 U = v R w0 s e

(1) [Mn(H0) P+
() [Fe(HO) Pt
(3 [CofHy0) 2"
) [Co(H0)

(CFSE) wafeim & § :
(1) [Mn(H,0)
(2)  [Fe(H,0),P*
(3)  [Co(H,0),**
(4)  [Co(H,0) M

www.sakshieducation.com
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Magnetic moment 2.83 BM is given by which of the
following ions 7

(At.nos. Ti =22, Cr =24, Mn =25, Ni=28)

1 Tt
(2 Ni*t
@ et
@ Mn?t

Which of the following complexes is used to be as
an anticancer agent ?

(1) mer-[Co (NHy); Cly]
@  cis-[PtCl, (NH,),)
@)  cis-K,[PtCl, Br,]
(4)  Na,CoCl,

Reason of lanthanoid contraction is

[Englishi+Hin
73. T=ifea s § @ frwan e e 2.83 B
&) x '{f__’-f_h"j-r':*j“"'slb
(W : Ti=22, Cr=24, Mn=25,Ni=28) _
ﬂ} Ti.'!--l- = \ \5
AT NPt o
(3) At
(4 Mn?*

o
7. T A -9 wF w1 awm wfa-Fm w0 |

FHAME ?

() cis-[Pt cl,

(3 cis-K;
Naﬁub

()

(1) Negligible screening effect of ‘f* orbitals A
(2)  Increasing nuclear charge e H 71
(3)  Decreasing nuclear charge s AT 27y o T
(4)  Decreasing screening effect q) () S wE T wE

¥ = *

NaNCl NHZ NwNCl- NH,

H* " \
- Q= 2O O

(1} @Naﬂ-ﬂﬂ
@ %
*

)

NaM

@Wz
e

Which of the following will be most stable
diazonium salt RN3 X~ 7

(1)  CHyNT X

(@) CgHs NIX

(3 CHjz CH, N¥ X~
(4) CgHs CHy NT X~

e
(1) @NnN—NI-I@
NH,

@ OO
NH,
o OO
o OO
77. 3 4 w17 maifus e sty
RN X~ #rm?
(1) cHy N3 X
(@) CgHs NI X
(3) CHz CH; NT X°

(4)

CﬁHS CH: NEF X"
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78.  D(+)glucose reacts with hydroxyl amine and yields | 7g. D +) - & TEEEEE vHE % Ty w5 w56
an oxime. The structure of the oxime would be ; AT F 21 AT O W
~“H=NOH _
CH=NO CH=NOH
I'l—Ll”—DH H-LT—DH
ol HO-C-H |
i Hi?::.lf::gl-i )
I H= cl: -OH
CH,OH CH,OH
S CH=NOH
HU“':F:_H HD—&—H O
HO-C-H HO—-C—H 0 |
; I
H—-C-0H
@) : H~-C-0H
ey O @ h--om ’Q’
CH,OH é,@
CH=NOH &m—r
HO - {I: —H H
H—'.'.I:-DH ; (I:—CIH
g HO-C-H OD—E-H
H-C-OH H—C~OH
[
CH,OH . CH,OH
EF".H =MNOH (rl' H = NOH
H—{IT—DH 6 H—CI'-DII
H()—f.l'_'—l-l % I'ID—?“H
H-C-0H H-C-0H
(4) i @» ) i
H—{'?—Gl-l 6 H-(r:—DH
CH,OH CH,OH
Q-
79.  Which of the hormanes is produced under | 79. 191 8/ 31 g1 o =t feufa @ gaa - -
the con f stress which stimulates TEAG RS e T w2
glyco n the liver of human beings ?
(1)  Thyroxin M
(2)  Insulin A2 T
(3)  Adrenaline @ e
(4)  Estradiol (4) TEERsiE
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0. Which one of the following is an example of a

thermosetting polymer ?

(1 1
4 CH,—CH
o - CHy Cl] =+
I H O 0
. | AT I
() £ N-(CHyy— N-C—(CH2)y—C oy

OH OH o
CH Ha
o AT

81. Which of the following organic compounds
polymerizes to form the polyester Dacron ?
(1)  Propyleneand para HO— (C H,)—OH
(2)  Benzoic acid and ethanol
(3)  Terephthalic acid and ethylene g1}rmb
(4)  Benzoicacid and para HO —t;;\@m
82. ol a common

Which one of the follo
mmpunentofl’hotudﬁ g?
1y  Qzone @
Acruiui@

(2)

(3) yaletyl nitrate

$ orofluorocarbons
&m the Kjeldahl’s method for estimatioin of nitrogen

present in a soil sample , ammonia evolved from
(1,75 g of sample neutralized 10 mL of 1M Hz80,
The percentage of nitrogen in the soil is:

(1y 3733
@ 4533
@ 3533
@ 4333

www.sakshieducation.comr

www.sakshieducation.com

[Enaisnsrind

80. rey B A AT ARE T &7

[:1] ~{-‘CH2"C1:CH_C1']2+n

Cl
® &

. R
@) N-(CHY-N-C~(C

A HO - (C H,) —OH

0 e e UG e
® Sy e 7T U UFAET e
(@) HweE w Ul 71 HO — (CH,) — OH
gy, e @ R T g e e
57
(1) e
A7) R
@) TR e
() A T

83, ﬁ#mﬁawﬁmmm
ez fafa 7 075 g T A I AACE @
10 mL M H,S0, & = e sl #

e W ¥
a) 3733
() 4533
@) 3533
(4  43.33
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; 1 aufeaf 4
84, What products are formed when the following | 84. i AT 1 1 Bry % W Febr,
: compound is treated with Br, in the presence of =A% IS A 7
FEBIS 7

5. 0., 1

CH3 CH}
L . -0
@ and (1) CHy CHy
CHy H Br
3

3
CH;
Br

8 CHjy CHy
H Br Br
o g
Br. ¢ (2) 1
and CHy
CH o L 2
CH

v
CHy
cH B @ 4
1 :! @) CHy
Hy K\ Bt '
B

L] iy

r

)
(2
O, "
(3) o1
(4)

)
d
| oy
CHy
CHy CH, e @
@\ and @ 6 Hy Br CHy
CHy Br CHy Br
i b # 4 F-a Al ® Ko F frerE # 9«
85,  Which of the following compounds will undergo erere o A e

vacemisation when solution of KOH hydrolys cHLc

5 @’ e \@ 0 @ |
&0

(i) CHaCH,CH,C
() CHCHCH,Cl CH,

(i) f,c- CH-CH,Cl

(iii) ~CH-CH —
H.gc H 2 ® CHS
i )
w) HZ[Na
vy H7 ?N@ (w cthE
(1) = (if)
(1) t@ s, 0 G
@)  (ii)and (iv) @ (=R

(3)  (iii)and (iv) @) (i) # (iv)
(4) ()and(iv) @ )
8. Among the following sets of reactants WSRO0} g ooy 13 e e e el 7 -,
Erfdugzgéi ;ng M) CHCHORMX
(3) CyHsOH;NaOH ; CHal (2 Cﬁﬁaﬁﬁ 2:;: F z:a
(3)  C,H;OH neutral FéCl, , @) Cﬂs‘zch Jein é; i
4 CgHs— CHa; CH:,'I:OCF s AlC 4) GHs g ! :

vww.sakshieducation.com - o J
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22 | ey
87. ‘1.«1; ich of the flnunwfn 8 Will natbe solublein sodium | gy, Frest 3 & 2 sitfem wrvsiom TR AR e o
Wilrogen carbonate M 2.4,6- 2rmertara ' .

) 24,6- trinitrophenol
(2} Benzoic acid (2 = o

(H - Nitrophenol
(4) Ht-nxl-nesuiphonic acid

Which one is most reactive lowards Nucleophilic
addition reaction ?

CHO
(1) @

&) @—Cﬂ:ﬂj o E‘ij/}-n CH,

CHO {J.‘HO

@) @ (3) I%:ﬂ

(4)

B9,

M CHy~(CH)y~0~cH,cH, (CHY,CH, -0~ CH,CH,

L 2
@ (c H3):CH, ~ 0= CH,CH, \ @) CHy(CH,), ~0-cy I
() CHy(CH,), ~0-CH, )  CHy,CH,-CH (CHy) -0~ CH,CH, |
90,
as

id-:nh'ty Zin the sequence of reactions :
Hibr/ H. )
H=0; T CH=CHq —
CH3CH, CH=CH, — B/ H sY—<2H5ONa 5 2CH=CH, X/ HR05 5
&l

(4  CHCH,- CH (CHy) -~ O-CH,cH, =1 4 2 for ol A oy THT IRE
Which of the following Organic com % I (CO,) S 7

same  hybridization ge its @1 1on 1 g

prnduct—{ﬂ]z} ? S

(1) Ethane 6 ) X

(2)  Ethyne

(3)  Ethene ¢
4)  Ethanol

Which one of the fo shows isogamy with
non-flagellated g

(1) Saremssu

() Ectocn

() Wothrix

(4) Spirogyra _ ; . :
LT, T3 BT Seanfera i e ATt i

Five kingdon system of elassification suggested by 44 fgg T IR e &

R.H. Whittaker is not based on | ()

(1) Presencear absence of a wel] def ined nucleys,
(€  Modeof reproduction, (2)
() Modeofnutrition, @)
4) Complexity of hod Y organisatoin, {4)

www.sakshieducati
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findi| 213 r
:-:llci; one nf? the following fungi contains | 93, fA=fefas § € #m @ Fa5 4 tefeom o0 82
nallucinogens 3 3
)y Morchella esculenta M e q
2} Amanitamuscaria @ S
) Newrospora sp, @) 7 Gl
4)  Ustilagosp, @) seieimt iy
Archaebacteria differ from eubacteriain: e 3 Forrt { ey ), Forega (3 :
) Cell membrane structure i iihhE ;
) Mode of nutrition (1) T W sl
3)  Cell shape @
4)  Mode of reproduction (@) i E:I'Iﬁﬁ O
(4) wEEEE
ich one of the following is wrong about Clara ? -
) Upper oogonium and lower round 9. FwH faw ¥ fretaten § 4 26 TIT-EI‘
antheridium. (1) I Sz T e el
) Globule and nucule present on the same (2) TEEE SR “ T WO i |
plant. () R e A e Tyt
3)  Upperantheridium and lower cogonium (4) W Y
1)  Globule is male reproductive structure
0.
Which of the following is responsible for peat
rmation ?
(1)  Marchantin
(2)  Riccin
3)  Funaria
d)  Sphagnian 97.
Placenta and pericarp are both edible portions in !
) Apple
2)  Banana —
(3)  Tomato ®
4) Potato 98, W4 ATEEE 0N AT EE UF w1 A, famn et fadm
hen the margins of sepals or petals ovéflap one fem & o T w1 afaenfed wed € o w5
another without any purli@:&tiun, the F31 WA
ondition i1s termed as : (1) HFedr
(1) Vexillary (2) FreE
(2) Imbricate (3) = FIGG)
(3)  Twisted $ @) piTt
(4)  Valvate
ou are given a fairly old piece of dicot ste o o | bl il
iven a fairly o : m i E
dicol mﬁl. ‘n:"u’hiq:h -:{f thf If‘:::ltl;wh:? a::'m?:-::'tr:caz; %ﬁ;fﬁ?? 3: ﬁﬁ,ﬁ ‘E‘ﬂi:ﬁrr—[ % frg
structures will you use to distinguish between the SO Tl TS
two ? F11 7
(1)  Secondary xylem Ay feas
(2)  Secondary phloem (2) TR TETE
(3)  Protoxylem (3) onfeEs
(4)  Cortical cells 4) HeFe FivEn

_—.__
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100. Which one of the following statements is carrect ? I 100. ffuifaT wys & 9 g7 N 107,
(1)  The seed in grasses is not endospermic, (1) = O T ¥ |
()  Mangoisa parthenocarpic fruit, (2) =M T AT v .
(3)  Aproteinaceous aleurone layer is present in _ EECOR A C R mq;ﬁ- WA T T
maize grain, /R A E | L

() Asterile pistil is called a staminode,

() TF 9T T w99 P e &
101 Tracheids differ from other tracheary elements in - 101, =feFmt, = wrfesig Al § 9 iy By #5

(1) having casparian strips (1) FE v 5
(2)  beingimperforate ()  erfed ém

(3)  lacking nucleus 3)  FwwE T avg

(4)  beinglignified (4) e g9 g

102, Anexample of edible underground stem is :
(1)  Carrat

(2} Groundnut

(3 Sweet potato

4)  Potato

103, Which structures perform the function of
mitochondria in bacteria ?

(1)  Nuclenid
(2} Ribosomes
@ Cell wall
#)  Mesosomes

04. The solid linear cytoskeletal elements having a
diameter of 6 nm and made up of a single type o
monomer are known as ;

(1) Microtubules

(2)  Microfilaments
(3)  Intermediate filaments
(1) Lamins ® :

% ms.mﬂm‘tqmaﬂf#mawmﬂ-qmgm:
The osmotic expansion of a cell keptsift water is ¥ 2m Frafarg w27
chiefly regulated by ; * ] - Y
(1)  Mitochondria (1) i

@) T
(2)  Vacuoles
@) Plastids i
(4)  Ribosome: ) T |
Diring which sy of e L ﬂﬁ%ﬁ.ﬁ.‘!.?ﬂmﬁmﬂizﬁﬁ.ﬁﬂﬂﬁm‘ﬂ?ﬁ
uring which phase(s) of ca Cyele, amounto W, i z o

in a cell remains at 4C level if the initial amount is ! o il AT, i ST 111,
denoted as 2C ? T TEHl #2
()  GjandG, M Gyevg,
@) Cands @ G 3is ’I{
() Onlya, @) FG, J
@) Gyand M @ G,#mMm I'I
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25 r lges.
tch the following and select the correctanswer: | 107, F=tEEs #) Eﬁﬁm 1o AT wA I g
Centriole (i) Infoldingsin mitochondria (a) AF F7 () T 7 e
Chlorephyll (i) Thylakoids (b) Tofef (il) aEEHES t
Cristae (i) Nucleic acids (c) &= w2 (iii) “fETE A
Ribozymes  (iv) Basal body cilia or Hagella (d) TEaTEn (iv) TR T FEN T AT F =
|
@ O © @ @ ® © @ £
(iv) @) (@ (i) T Y S ) TR () S (11 22
O @ ) 2 SLURIRRRLC R d
: i (3, @ (i) G (W N\
{]} |:1"] l:l:l} [“'] (4) {i‘u‘] {iii) (i {ii) | l|i | il
(iv) (i) @) (i) L il 1=
108. = uw 3= 3 fifem fam f af gis S 6 R
F. Went noted that if coleoptile ips were removed AEMERT 38 U o % A e H e A A de
placed on agar for one hour, the agar would UH P I L | Gl 2 B | s e T IET Her .
duce a bending when placed on one side of g R e B .
hly-cutcoleoptile stumps. Of what significance 93 % T W o fa o 3 R
is experiment ? e 77 |
[t made possible the isolation and exact (1)  T98 & qﬂﬁﬁu‘{“.‘l_ﬁmm qE=T JE
identification of auxin, el '
It is the basis for quantitative determination (2) % FIGUTETEE Sadl ) A A F A
of small amounts of growth-promoting :

Firetm &1 ApTRE |

substances, . 1 ]
It supports the hypothesis that LAA is auxin, ®) ﬂﬁmﬂ } W i e
aTE *
It demonstrated polar movement of auxins. i g i
(4),  FEPENE & e TR ) et
iclency symploms Ofifrogen and potassIumare | 19, &R 2form 1 3 3 e Tl e 1-;3:{
o o 7 ,
Senescent leaves eofer T & T
Young leaves gy = 1:11'.
Rook v () i F £
Buds @) & =
(4) Fferdi e
hich one of the following processes €0,s not e "
sed ? N 2 110. Trefefae 7 2 R wfwn ¥ co, g9 Tl o ? E
Aerobic respiration in plants (1) e # A e :
Aerobic respiration ifi #nimals ()  forEt F A v
Alcoholic fermentation (3)  UEEEEl fHTE —
Lactate fermentation’ A e v Joandred
gy
pxygenic photosynthesis is characteristic of : 111, ST FHT WLV oy AAfera 7 B TR
Rhodospirillum (1) HEEERem
Spirogyra (2)  EwE fs
Chlamydomonas (3) FAEEEAT
Uloa () o |
|
{
- £ 4
www.sakshieducation.com
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112, A few normal seedlings of tomato were keptina | 112 I & F 6 FATEET 1 T FH9 § 171 T
ot oot e e oot | T % 8 g 4 v g
following terms will you use to describe them ? I AV A o e, & Frerferten 7 4 o v
(1) Mutated 1 AT B 7
()  Embolised (1) et
(3)  Etiolated (@ s
4)  Defoliated @) vigha
4 froafam
113.  Which one of the following growth regulators is
known as ‘stress hormone’ ? 113. frefafan & & F-w afs frres i
(1)  Abscissic acid B A AW A R 7
(2} Ethylene A1) TEITTR A
(3  GA 3 (2) ey O
{4)  Indole acetic acid (B) GA, 0
4) 3T uHEifrw o .
114. Geitonogamy involves:
(1} fertilization of a flower by the pollen from | 114. FWHYE T & bl
another flower of the same plant, (1) TFYEwH _ ot Um ¥ wm H
{2 ferﬁli?lnﬁun of a flower by the pollen from the o
same flower.
(3)  fertilization of a flower by the pollen from a @ %ﬂ# my#mﬁ
flower of another plant in the same ~3) T T 351 T & gE TRY §
population, i sl
(4)  [fertilization of a tlower by the pollen from a m =1 i 70 Hofer % {“-ﬂ TRy *‘-ﬂ.
flower c:-f another plant belonging to a distant Fom
population. %?’
115. Male gametophyte with least number of mﬂ]% i i?aﬁﬁ T WA ALA T R
presentin;
(1)  Preris % (0 o
(2)  Funaria % (2) W
(% Lilium ® @) faramm
(4)  Pinus % (4)
16.  Anaggregate fruit is one dévelops from : 116. T T T 7E & W forchfira g #
(1) Multicarpellary us gynoecium (1) TEATH Jaared i §
(2)  Multicarpella carpus gynoecium (2) =EerE e S §
(3)  Compl 3 iR
{4) Mul@w superior ovary (4)  =marzd Tl sfEm A
117.  Pollen tablets are available in the market for : 117, T faferan s § o ferm sues 2
(1) Invitro fertilization (1) e ¥ fom
(2)  Breeding programmes (2) W A ¥ fag
(3)  Supplementing food A3) T wE s e
(4)  Exsitu conservation (4)  =TETEET TIE % fEu
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Function of filiform apparatus isto: . TaFY HAEA R I FE R ?
1)  Recognize the suitable pollen at stigma (1)  =ffFm W FILF TP & T
)  Stimulate division of generative cell (2) R EE & YT ) e e
3)  Produce nectar (3) WY H TEEA
) Guide the entry of pollen tube (4) T R 9AY e
Non-albuminous seed is produced in: . TR e Je el senfm ga ¥ 2
] Maize (1) W&
¥l Castor A2) WS
5)  Wheat i
5)  Pea

ich of the following shows coiled RNA strand
d capsomeres ?

Polio virus

Tobacco mosaic virus
Measles virus
Retrovirus

ich one of the following is wrongly matched ?

Transcription - Writing information from
DNA to -RNA,

Translation - Using information in m-RNA
tomake protein,

Repressor protein - Binds lo operator to stop

P ianse i NG i - w2

Operon - Structural genes, operator and =1 wfe o
promoter.

formation was discovered by:
Meselson and Stahl

Hershey and Chase 6
Griffith 3 :
Watson and Crick (4)

it colour in squash isnn@u’f: 123. 53 F Fdl &% 1 fhues e £ 7
Recessive epistasi o) AN yEE

Dominant epistag (2) WIE g
Complementary genes @) g
Inhibitory genes 4) fained ==

ruses have s g Fn e & 7
DNA enclosed in a protein coat (1) W smeEm F vfEy E"}'.'E',?.E.
Prokaryotic nucleus 2) UEFEFIEEE
Single chromosome (3) HFen A
Both DNA and RNA (4) FLUAU AW I I
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The first human hormene produced by recombinant
DNA technology is:

(1)  Insulin

(2)  Estrogen

(3) Thyroxin

(4}  Progesterone

An analysis of chromosomal DNA using the
Southern hybridization technique does not use :

(1)  Electrophoresis
(2]  Blotting

(3 Auotoradiography
(4 PCR

In vitro clonal propagation in plants is characterized
by:

(1) PCRand RAPD

(2)  Northern blotting

(3)  Electrophoresis and HPLC

{4y  Microscopy

Analga which can be employed as food for human
being is ;

(1)  Liothrix

{2)  Chlorelln ‘0

(3)  Spirogyra %
Which vector can clone only I’mzment of
DNAT E

(4)  Polysiphonia

(1)  Bacterial artificial chr
{(2)  Yeastartificiale

(3)  Plasmid

)  Cosmid

An examp  sitwconservation is
(1) | Park

ﬁh& Bank

(3) ildlife Sanctuary

4) Sacred Grove

A location with luxuriant growth of lichens on the
trees indicates that the ;

(1) treesare very healthy

(2)  trees are heavily infested
(3)  location is highly polluted
(4)  locationis not polluted

125, T Eun Wi g senfeE geen wvE
A BA W7
Al) TR
(2 TEEE
() U
(4) TEEEEA

126.

127,

128.

129.

130.

131.

U ERERC S %mﬂnmmmﬂ

1 W TE A 7 @
(1) S He N
e O
A =l fasm
(4) diELIm.
et H 9 S e o AR a2
(1) " T,
(2)
3) g e R o
mi‘lﬂm%ﬁ’arﬁ%hm%mﬁ
o M AEFME?
(1) gl
@) T
@)  EwEE
(@)  wfTEEETT
[ F HAEE GO % FEAE TR O THE F)
T W HEA R ?
(1) a1 e R
(2) = A
A3 e
(4 Fi=E
ATETET [T ] U S HA WA ?
(1) g TEm
(2) s dw
(3) T T Ay '
(4) OEEITE '
Tepeit ¥ 9T il W Al 1 e W A gig w4 ]
Hhaame ?
(1)  F4 st ey §
@ g e ae
AB) T8 T s v § '

4) =% 9H vefug T E

S

Ly .
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tch the following and select the carrect option: | 132,  freiferfias =t gﬂﬁm wifee & wt fame =fm .

n)  Earthworm (i)  Pioneer species @ g () et e
b))  Succession (i)  Detritivore (b) ST (i) T
£)  Ecosystemservice (i) Natality () i T (i) o
i Population growth (iv)  Pollination (d) e ate (iv) T
@ B © @ ® © @
) ) @) () (i) m o ) @) ()
D) (iv) (1) (i) (i) () {1:% EL EIU:J] E:;l
B) () () @) 0 G
b5 6w o () (i) O
: | 133 uE T, S e afa W e & I
B ki it S o0 (| Tl gyt
1) Vulnerable M 3
— @ v . S O
: Critically Endangered () T HeheT \\
4)  Extinct @ faem
he zone of atmosphere in which the ozone layer is 134, ORI G QX 5 3R 8, 3R
bis called : T e S #
1) lonosphere (1)
Mesosphere {2)
Stratosphere ,ﬂ’\ﬂ
) Troposphere : LREG
organization which publishes the Red List of 1& Hrer Sl F1 T e e ww §
pecies is : ) o e,
1) ICFRE A2 AR
R (U 6 @) Awd
e @ TR
: WWEF *
@ Va6, AT i e < et form A
h::]:'-lll;:;‘;l"?i::g -..T:::-tri:"e | represents both B R B e e e (A
I Echinnd;zrm:i © s
} Clenophora @
8)  Cephalochordata ()8 T
Cnidaria (6
) o= P , 137, Frefefan § 2 ey shifaa omft F Siftre fast
Vhich one of the following living organisms L
ompletely lacks a cell wall ? ot 3 @ 2
1) Cyanobacteria (1) R
g Sea - fan (Gorgonin) () Hgﬂ A (i)
3)  Saccharomyces (3) A
4)  Blue-green algae (@) i &fia fea
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Planaria possess high capacity of :
(1) metamorphosis
(2)  regeneration
(3)  alternation of generation
(4]  bioluminescence

A marine cartilaginous fish that can produce electric
current is:

(1)  Pristis
(2)  Torpede
(3 Trygon
(4)  Scoliodon

Choose the correctly matched pair -
(1)  Tendon -Specialized connective tissue

(2)  Adipose tissue - Dense connective tissue
(3)  Areolar tissue - Loose connective tissue
(4}  Cartilage - Loose connective tissue

Choose the correctly matched pair :

(1)  Inner lining of salivary ducts - Ciliated
epithelium ;

(2)  Moist surface of buccal cavity - Glandular
epithelium

(3)  Tubular parts of nephrons - Cuboidal
epithelium

(4)  Inner surface of bronchioles - squamous
epithelium

In ‘S’ phase of the cell cycle : 9

(1)  amountof DNA doubles in each E’Qﬂﬁ’\\

(2)  amount of DNA remains same ingach.cell’

(3} chromosome number is increasdde™)

(4)  amount of DNA is mdu%@'}f% each
cell,

(1)  fimbriae

The motile bacteria are ab%@ by:

(2)  flagella $ ~

(3) cilia

4 pili

Select theloption which is not correct with respect to

enzymeaction :

(1) te binds with enzyme at its active site.

(2)  Addition of lotof succinate does not reverse
the inhibition of succinic dehydrogenase by
malonate.

(3 A non - competitive inhibitor binds the
enzyme at a site distinct from that which

! binds the substrate,

(4)  Malonate is a competitive inhibitor of succinic
dehydrogenase.

138.

139,

140.

143.

144.

A H et s e &2

(1) FEmm

(2) YA

(3) i el

4) FH9-wETE

U T e e S g o v w A
B ,
) ey |
(2) 2hiEt

(3 #wmT

(4) IS

T AT F S0 TOE - TEH] S0

bﬁmﬁ#‘m'mﬁﬂm%? '|
(1) Wers i § S F O e @ e
.

2)  WEIE e § ELUET AT AE e

() TEA F HE afyw 8w

(4) wEE S A Bt A et e R
e SiEm] g % g nfa w@ 2

(1) TwwfE

(2) i

(3) ey

Ay fues

T fRn % Hel § 3 fawen w1 9 W ew
5,

e oA afEe wm A e
TG W R e A TR ey
U AT WO Uy S e A
& & 1 R o g % e P g
HelA2 T ETeEree 1 U Sfaesiers
HemA B
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Vhich one of the following is a non - reduci gz
arbohydrate 7

)  Maltose
) Sucrose
)  Lactose

) Ribose 5 - phosphate

e enzyme recombinase is required at which stage
bf meiosis
1)  Pachytene
) Zyzotene
3)  Diplotene
) Diakinesis

e initial step in the digestion of milk in humans is
Farnded outby 7

] Lipase
2)  Trypsin
) Kennin

) Pepsin

ructose is absorbed into the blood through mucosa
Ils of intestine by the process called :

L) active transport

) facilitated transport

) simple diffusion

)

co-transport mechanism

Rpproximately seventy percent of carborfdioxidé
bsorbed by the blood will be transported, tof the
ngs .
1)  as bicarbonate ions
in the form of dissolvedygas molecules
3] by binding to B.B.C

1) ascarbamino shaemoglobin

rr:rrmn with blood group AB is considered as
niversal recipient because he has:

) both A and B antigens on RBC but no
| antibodies in the plasma.

) both A and B antibodies in the plasma.

) noantigen on RBC and no antibody in the
plasma.

) both A and B antigens in the plasma but no
antibodies.
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150.

145,

146,

147,

148.

149,

P
FfefEs | =1 71 0 3m-Arams sewme
B2
(1) Tees
A2 FHEW
(3)  FEm
(4) TR - 5-FER
T ursm vl favrem =1 frg s §

G+ ?

(1) e (mpETe)
(2)  EEIEN (gTHYEE)
(3) fewifes (fgwez)

(4) EEFEEAET (IEEE)

ﬂﬁmﬂ‘mmmﬁ mﬁmmm%mﬁﬁ
T & ?

1) T

(2) feits
B ’m

(4) i

TR ) T ST ¥ Yere il § @ e
T AR TEtaty ¥ 2 A 7

(I, VafFg i

2 g ufEs
3 =mEr e

4) =E e Fafaiy

T BRI AN FTET TRAES H TN 70
Wi WT ] SET o SR S e 7

(1) aEHEAE T Fw

@ 9 F el w5 g @ aemn A

(3) T T RS W Y S

(4) A - T w5 T

AB T BYE TE Ao i 516 A (M) 19

W g7

Al) o TR Al A o B 2 wiie i
& 1 AT H Whowaf safeem 2§

2) I AR B SH afel B T

(3) e TR i ¥ Fig afree T 2 e
1 H wis TE wt

(4) W#Aaﬂiﬂi’ﬁ‘rmﬁﬂﬁwm
&1 Bl |
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152,

153.

154.

155.

How do parasympathetic neural signals affect the
working of the heart ?

{1)  Reduce both heart rate and cardiac output.

(2)  Heart rate is increased without affecting the
cardiac output,

(3)  Both heart rate and cardiac output increase.

(#)  Heart rate decreases but cardiac output

increases,

Which of the following causes an increase in sodium
reabsorption in the distal convoluted tubule ?

(1)

Increase in aldosterone levels

(2)  Increaseinantidiuretic hormone levels
(3)  Decrease inaldosterone levels
(4) Decreasein antidiuretic hormone levels

Select the correct matching of the type of the joint
with the example in human skeletal system :

Type of joint Example

(1) Cartilaginous joint - between frontal
and pariental

(2)  Pivotjoint - between third and
fourth cervieal
vertebrag

(3)  Hingejoint - between hu
and . |

(4) Gliding joint -

pigdl
% i carpals

Stimulation of a muscle ff@ @ motor neuron
occurs at :

*
(1)  theneurom junction
(2) thetran tubules
(3)  the

(4)

plasmic reticulum

Injury localized to the hy pothalamus would most
likely disrupt:

(1} short- term memory.

(2) co-ordination during locomation.

(3 executive funchions, such as decision making.
(4)  regulation of body temperature.

www.sakshie_aucation om
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152. Trefeiem # 9 faas g0 50y H
Hifgam =1 grvayiam a5 wmm
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@ wErEEgies ik
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(4) & L H HeA |
153, T H 91z ¥ von 7 39w mEm
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FIREE & A
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154, 5T g B Ui A &1 39 e WA g 7
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ch one of the following statements is not

?

Retinal is the light absorbing portion of visual
photo pigments,

In retina the rods have the photopigment
rhodopsin while cones have three different
photopigments.

Retinal is a derivative of Vitamin C,

Rhodopsin is the purplish red protein present
in rods only.

tify the hormone with its correct matching of
and function :

Oxytocin - posterior pituitary, growth and
maintenance of mammary glands.

Melatonin - pineal gland, regulates the
normal rhythm of sleepwake cycle,

Progesterone - corpus-luteum, stimulation of
growth and activities of female secondary sex
OTgans.

Alrial natriuretic factor - ventricular wall
increases the blood pressure.

t-or-flight reactions cause activation of :

the parathyroid glands, leading to increased
metabolic rate.

the kidney, leading to suppression of renin-
angiotensin-aldosterone pathway.

the adrenal medulla, leading to increased
secretion of epinephrine and norepinephrene,

the pancreas leading to a reduction in t
blood sugar levels.

ared terminal duct of the re@vwd
Urethra $

ary system in the human male
Ureter

Vas deferens

WVasa efferentia

main function of mammalian corpus luteum is

rocduce

estrogen only

progesterone

human chorienic gonadotropin
relaxin only

!-h-!:-

t” (4)
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156, To=ifeatEs w94l 0§ 19 W U F T 6 ?
(1) e gfe gaTe A0 T A
aTen u E |
() e v A R e o i d
T vl | A TR R TEEE o f
() e i C @ s B
(@) e T e e § ) e e

H o 3ufeee g T
157, FrifH &1 TEAE & HY 39% W S &N 30E w1 &
() SR - gvE 9 afe - g T
s = @ e |

(2) B!
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Wﬂﬁmﬁmﬁsm'&fﬂtmmwm

A |
159, HIE T H WA ST A Wi H1 W HA e
£
A
(2) oA A
(3) YA
(4 eI
160, T HiEgieay ®1 Y@ Fw i = a
ﬁamﬁmt
(1) FEE T
@) WEER
(@) AEE SIS TS
(4)  FEW FEfEE
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163,

164.

165.
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Select the correct aption describing gonadotropin
activity inanormal pregnant female

(1)  High level of FSH and LH stimulates the
thickening of endometrium.

(2) High level of FSH and LH facilitate
implantation of the embryo.

(3)  High level of hOG stimulates the synthesis of
estrogen and progesterone.

(4)  Highlevel oF hCG stimulates the thickening

of endometrium.

Tubectomy is a method of sterilization in which:

(1)

small part of the fallopian tube is removed or

tied up.
(2)  ovaries areremoved surgically.
(3)  small part of vas deferens is removed or tied
up.
(4)  uterusisremoved surgically
Which of the following is a hormone releasing
Intra Uterine Device (1UD) 7
(1)  Multiload 375
(2) LNG-20
(3 Cervicalcap % @
(4) Vault N f\\

AN

Assisted reproductive techno IVisdhivolves
transfer of . E

(1) , Ovum into the fallopia
-2y Zygoteinto the fal% tube,
(3) Zypote imtoghdutedus,

(4

@15& father was colour blind marries a
womanwho had a colour blind mother and normal

A
father. What percentage of male children of this
couple will be colour blind ?

lastomeres into the fallopian

1  25%
@) 0%

@) 50%
) 75%
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161.

o wETE edEd w H e w5 56
T A FA A EEe | I St

(1) T TH U ST U I TR e
= T[T 1 3GaA |

() T TR U= 9 UE U % I g e
STV =R AT S W |

(3) T H S T T i AR eEE .
YA ] IgETH H & |

(4) U= H 9w T W TS Lo
I A E

162, TS A 1 U fafiy ¥ ot

163

164.

165.

Al fEmmE 7o e
il A
(2) =™ H A T fem s
IR
(@) o 1 g v e e s &
2
()4 i fafy g e s 2
3 7 T T i e e T
{miﬂ)i:
(1) HEEEmE - 375
() wAuAH-20
(3) e 2
) =

HEHE WA TR, A H U % sjadg fEaw
T w7

(1) &= et A §

_2) I w1 Re Al §

(3) T w1 i |

(4) 16 TAFELHEHE G YO F He A i

T g faae firm a2 2 ofim o v o =0
A foame =3 ¥ et aen sl 3 ufag @i e
HEE | 3H I & T A= w6 fw afae ane

e ?

1y 25%
S 0%
_B)  50%

@) 75%

1
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a population of 1000 individuals 360 belong to | 166. 1000 =TT %1 T8N | 360 HATET AA, 480 Aa 31
enotype AA, 4:3#} to Aa and the remaining 160 to 919 160 aa ¥ 317717 3T &1 TH AFTF AT A
a. Based on this data, the frequency of allele A in s Lt i
e population is : TR Sl mﬁ’ W wHe H '.f""‘_ ;) it.
) u4 (1) 04 5
Y 05 @ 05 .
Y 06 (3 06
i @ 07 e
i 9 = faEm A T &
human female with Turner’s syndrome:: 167, % LR _ |.' £
(1) has 45 chromosomes with XO. 1 -1) T 45 TUrEE XO Hae F i 15
) has one additional X chromosome. (2) =W e s X e Lt
(3]  exhibits male characters. (3) FF T F AW S E F 3
[4)  is able to produce children with normal (4) T W U H Y T e T HF
husband. 3%
168, el fammey =1 =4d #1
Sclect the correct option | h
Direction of | Direction of reading . Eﬁl‘ﬁﬁﬂ.ﬁ? ms’t’@‘gm F |
RNA synthesis | of the template DNA Hyemm 1 fam| AT = TﬂT‘lT
strand _Hn 5 g (B 5 éh'm
(L)l S SiFd el @) 3—5 N ) 5-—3 1
@) 3 -—35 5 wee 3’ (3) S5e—4' W 5 ——3' = :jz;a
(3) 5 3 e e U (4) 3{&&%5":_._7 qE=ma :
@] 3—8 E— R®. F:'mm
169. T (AT, ST ¥ o Smd WO e
Commonly used veclors for human genome 0 N J
fequencing are : : A i==
(1) T-DNA il‘l T-BIUATY P EC
2) BACand YAC &) A, AR, A
|
3)  Expression Vectors (3) wfveaf e
4)  T/ACloning Vectors (4) T/ A T AR =
|
Furelilllbs of cat, lizard used in walking; forglimbs | 170. faeell ot fousell & oUoR 94, F9 % SUUR P
h n;hlal}:l used in swimming an;:l farelimbs of bats 3 @ - =R F e 9 & few E F 3 al
uﬂt;ut in }slll'lg are an example of;; R SR
Analogous organs Ry ot
2)  Adaptive radiation g @) : i A
3)  Homologous ofans (2) AR Eiiiﬂﬂ'll
[4)  Convergent evolubion A7) HHER ST
| ) arfirrd famm - hun
Which one of the following are analogous L
structures? 171, Trerfafes o # w0 wggfa e §
1)  Wings of Bat and Wings of Pigeon. Q) wEE # T A A # 7 | ATPE K .
:[E} Gills of Prawn and Lungs of Man. @) w3 fre aﬁtﬁw#ml
3)  Thorns of Bengainvillen and Tendrils of ok 3 B
'[ Crcurbita 4 (3 aAnETEfad & Fis 3 EETEC = Tq
4)  Flippers of Dolphin and Legs of Horse. (4) =fewa = foed ot =g % i —

www.sakshieducation.com




r

172.  Which is the particular type of drug that is obtained
from the plant whose one flowering branch is shown
below ?

(1)  Hallucinogen
(2)  Depressant
(3)  Stimulant

(4)  Pain-killer

173. At which stage of HIV infection does one usually
show symptoms of AIDS ?

(1)  Within 15 days of sexual contact with an
infected person,
© () When theinfected retro virus enters Emg
(3)  When HIV damages large numbét,bf.
T - Lymphocytes, 2
)
#)  When the viral DNA is produced:b¥ reverse
transcriptase, X
€/»

174. Toobtain virus- free heﬂ?ﬁiﬁﬁ‘m froma diseased
one by tissue cultuge technifue, which part/parts
of the diseased p ilPbe taken ¥
(1) ﬁpical‘iii isbern only
(2) If?@‘@gﬁiﬁarmchyma
(3) ‘Eﬁih apical and axillary meristems
(4) “Epidermis only

175. What gases are produced in anaerobic sludge
digesters 7
(1)  Methane and CO,only
(2}  Methane, Hydrogen Sulphide and CO,

(3)  Methane, Hydrogen Sulphide and 0,
(4)  Hydrogen Sulphide and CO,
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_A3)

(4)

175.
(1)

A2

3)

()

172, A2 % H1 fad wHR & weE 75 & o 5 e 2
e Eet § oot v qftes v W e

i 33 E )

i i T S TR R 0
i ¥ i A

= T 10 12T U AT o W
£l

w9 uH oy A fave gEm W REeg
#i-feremrame & sform 5@

T oY THIFES A e 21 U U g
e 1

174. 0 WA T G i Ee R e -ge e
U] 9T T fer et e A

=1 fera smom ?

) FEe v s

(2)  UEEE TR

(@) i I Sei favsEs 9El
(4) Fae sfied

FrE! 1 srETTETg e gt ¥ 3w g i ?

e HeT # Co,

e, TEEe gewEs S co,
HIE, FTEEISH TEwEE 31 O,
RSS9 HewES 3 CO,

E:

17
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ust as a person moving from Delhi to Shimla to
escape the heat for the duration of hot summer,
thousands of migratory birds from Siberia and other
extremely cold northern regions move to:

(1) Western Ghat

(2)  Meghalaya

()  Corbett National Park
(4)  Keolado National Park

Given below is a simplified model of phosphorus
cycling in a terrestrial ecosystem with four blanks
(A-D). Identify the blanks.

—y el

oot} bl
Run off
B
Options;
A B C D
1) |Rock Dretritus Litter fall  |[Producers
minerals
2) |Litter fall |Producers |Rock Detritus
minerals
3) | Detritus | Rock Producer  [Litter fall
minerals
Y| Producers |Litter fall  [Rock Detritus
minerals

iven below is the representation of the
lobal diversity of inverfebrates, What grou our

rtions (A-D) represent respectively? N
N N\
B-—_

Dplions;
A i C 8]
Insects Crustaceans [Other animal |Molluscs
H[‘L‘IHP‘-

Crustacoans |Insocts Muolluscs Other animal
o

olluses Other animal |[Crostaceans | Insects

groups

Insects Muolluscs Crustaceans  [Oiher animal

EBroups
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176.

M)

P

o8 war v =i it F ey F o f a5
fom feeeft & foroen s & =4 wew WA s
maﬁwa@mmﬂwﬁmwwm
3 S & 2

(1) ufy=mae

@) HuEy

(3  FEE LA e

Teeteer T F

177, W& P13 et 73 O e o )
ﬂhﬁ‘ﬁ&ﬁmeﬁﬁmﬁmmW{
ﬁm:

SCHIGEh

(e )
A3) o |meer e e FH2
() [zemes | FEEH! |ie |

178,  STIEH] 1 Afvaew o fafasr @ s e
A= e T & | AW HE (A - D) 5w e
w § 7

N

Tereme
A B 4 D
M) |7tz Fa o =] ol H [
2) [ty |1 deeE e it e
O) [sirerem (a1 wmh wy [ Ei
A1) @iz Liige= Ea=iri| A= Wil FE
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179,
180,
®7

T
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A scrubber in the exhaust of a chemical industrial | 179, W TEmERE WEfTF dom F FHaEE i3
plant removes: - e e B & '
(1)  gaseslike sulphur dioxide
) Heulate matter of the size 5 micrometer or M 3R i
ate matter o : ’ .
k Eﬂ‘m (2) 5w % A T 9 FOEE e |
(3)  gases like ozone and methane ' @) 3 s e St i
(4)  particulate matter of the size 2.5 micrometer (@) 25 SEF ¥ A THY B T e |
or less ; v
120 S i g BT o ety R, R - T AV St o SO ofr e & ﬁm;ﬁ
how much energy will be available to peacock as Ft Wit % AR T et sjuen &
food in the following chain ? 37T 3"@ LS
plant — mice —» snake —» peacock Yo EH T s T O
{1} 002] V’m 0.02] 0
@  0.002) @ 0.002] .
@ o02] @ 02
(4)  0.0002] (4)  0.0002¢
-olo- \\- olo
O
|
p y ! | i
Y e i3 , W
- -
® AQ
".:" y\ f_,x' = @
Ay 7 @

9

2
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Read carefully the following instructions :

Frefofam Fr earT 8 93

1. Each candidate must show on demand his/her
Admission Card to the Invigilator.

2. Nocandidate, without special permission of the
Superintendent or Invigilator, would leave his/
her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases where
a candidate has not signed the Altendance
Sheet second time will be deemed not to have
handed over Answer Sheet and dealt with as
an unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

The candidates are governed by all Rules and
Regulations of the Board with regard to their

m

1. 92 9t W UEF wiandi, fFaw w A9
Tav- e fo@m |

2. aefiers =1 fdiws @t fagm seefa & fa &0
wienefl A9 EHE A 98|

3. FHEW FHEE F1 AT I
#Iforlt -9 FEEe I o
- BE0 | af e e Ageh A me-
TR AR T TR, & ST T 26A =
el e & aj‘rt'ﬂr@gpfgﬂ"mﬂ# %1 el
ST |

i :ﬁw@éﬁmmmwaﬁm

@aﬂw#hﬁwﬁaﬁé%ﬁﬁnﬁ

conduct in the Examination Hall. All caﬂi@ faframi g Fafia § FASR FET il el

unfair means will be dealt with as perd®
and Regulations of the Board. \
N\

6. No part of the Test Booklet and AfswerSheet
shall be detached under anyscirfumstances.

7. The candidates will write #he Correct Test
Booklet Code as givef in, thé Test Booklet/
Answer Sheet in the Afiendance Sheet.

%1 e A% & fi wg At % En @

6. Pt arera o iten qfeaeRn Si <60 99 w1 g 9
e T FL

7. gitan qf / SO0 TF W fan o wien i g9
=1 giiend! wd ad @ Afd-o3 7 o |

|

\
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